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H3C 7500E R63xxRFIIRAMISATAPRHERIHEIFE
—. AREK:
WNTERTR, IPVeRILHIIPVARIEIETISATAPASEHIEIE, EREIPv4RLHAIIPVE
FHIEIDISATAPRSEZNEIIPVERILE,
—. ANE:

Wlan int100: Vian int101:
3001:1/64 21.1.8/

IPv6 host ISATAP  Tuancl0 [SATAP host
3001:1/64 Switch 2001:1/64 P4 2.1.1.23
2
IPv6:
FE80::5EFE.02
01:0102
2001:5efe:2.1.
12
=, EESE:
(1) SwitchfyEE
# {FREIPVEEE R INRE,

<Switch> system-view
[Switch] ipv6
# EeER RO,
[Switch] interface vlan-interface 100
[Switch-Vlan-interface100] ipv6 address 3001::1/64
[Switch-Vlan-interface100] quit
[Switch] interface vlan-interface 101
[Switch-Vlan-interface101] ip address 2.1.1.1 255.0.0.0
[Switch-VlIan-interface101] quit
# BBEWSHEE, FEEENE, BimOMAZNSAEER, FEEROLEXES
TPIfEE,
[Switch] service-loopback group 1 type tunnel
[Switch] interface GigabitEthernet 2/0/1
[Switch-GigabitEthernet2/0/1] stp disable
[Switch-GigabitEthernet2/0/1] port service-loopback group 1
[Switch-GigabitEthernet2/0/1] quit
# BCEISATAPRSE,
[Switch] interface tunnel 2/0/0
[Switch-Tunnel2/0/0] ipv6 address 2001::1/64 eui-64
[Switch-Tunnel2/0/0] source vlan-interface 101
[Switch-Tunnel2/0/0] tunnel-protocol ipv6-ipv4 isatap
# FETunneliEOME N ERAES | AL SHREA1,
[Switch-Tunnel2/0/0] service-loopback-group 1
# BEUERAEERMAYIE], EEVALNEE R BAIRAESEREUI RIS
2.
[Switch-Tunnel2/0/0] undo ipv6 nd ra halt
[Switch-Tunnel2/0/0] quit
# ELEEISATAPEHAUEHSEEEH.
[Switch] ipv6 route-static 2001:: 16 tunnel 2/0/0
(2) ECEISATAPER
ISATAPEA, I EAERE SENAHRERFEX, TEXAWindows XPE{ERSF A
Bl TR,
# EWindows XP L, ISATAPEIER o2, REMZEN LECEISATAPAIIR,
H9IPv4ttEi BN R] SER EHNNIAYECE .,
SEEXNSATAPEONER:
C:\>ipv6 if 2
Interface 2: Automatic Tunneling Pseudo-Interface
Guid {48FCE3FC-EC30-E50E-F1A7-71172AEEE3AE}
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does not use Neighbor Discovery
does not use Router Discovery
routing preference 1
EUI-64 embedded IPv4 address: 0.0.0.0
router link-layer address: 0.0.0.0
preferred link-local fe80::5efe:2.1.1.2, life infinite
link MTU 1280 (true link MTU 65515)
current hop limit 128
reachable time 42500ms (base 30000ms)
retransmission interval 1000ms
DAD transmits 0
default site prefix length 48
# BEER T —NSATAPHEZUAYlink-localittlt (fe80::5efe:2.1.1.2) . HATHEIR
BIXAMEO _ERYISATAPIIHEATLAYIPvAEHE :
C:\>ipv6 rlu 2 2.1.1.1
# AREXA— 0, XFiTk T EVNERE, FKIIEREEXNISATAPEONE
I=H
C:\>ipv6 if 2
Interface 2: Automatic Tunneling Pseudo-Interface
Guid {48FCE3FC-EC30-E50E-F1A7-71172AEEE3AE}
does not use Neighbor Discovery
uses Router Discovery
routing preference 1
EUI-64 embedded IPv4 address: 2.1.1.2
router link-layer address: 2.1.1.1
preferred global 2001::5efe:2.1.1.2, life 29d23h59m46s/6d23h59m46s (public)
preferred link-local fe80::5efe:2.1.1.2, life infinite
link MTU 1500 (true link MTU 65515)
current hop limit 255
reachable time 42500ms (base 30000ms)
retransmission interval 1000ms
DAD transmits 0
default site prefix length 48
# SILRIEAIXA, FATTLABEEIENEREN 72001:/64A95148, BahEmithit2001::5
efe:2.1.1.2, FEIFSAIIXA—T uses Router Discovery’Z=IEEHIEA T IRHZEA
B, XAtping— Facied| RS ORIPveittl, BTApinglE, XAHMEZRIBISATAPRE
EELMINET.
C:\>ping 2001::5efe:2.1.1.1
Pinging 2001::5efe:2.1.1.1 with 32 bytes of data:
Reply from 2001::5efe:2.1.1.1: time=1ms
Reply from 2001::5efe:2.1.1.1: time=1ms
Reply from 2001::5efe:2.1.1.1: time=1ms
Reply from 2001::5efe:2.1.1.1: time=1ms
Ping statistics for 2001::5efe:2.1.1.1:
Packets: Sent = 4, Received = 4, Lost = 0 (0% loss),
Approximate round trip times in milli-seconds:
Minimum = 1ms, Maximum = 1ms, Average = 1ms
(3) WIFEELER
TR ERREBEZ S, ISATAPEHE AT E) PveriZE-RAE,
M, EEXER:
(1) EEfEREIPVeRERINEE.
(2 TERE—NWSIAEAE, FRBOMAWSREAER, FEEROEXEASTP
Th8e.
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